BHHRIN T KETFE AJIA )i 2HH

BfEHA . A0 54E TH23H (H) B8 MY — BRI

Bk AT T T SN 107N (BPE - 107N = 2Pk 0N)

HDCP E R :

T—R OUT IN (1/3)

FNENLIRE © <= v F 27— K (F a R)E) Flkl . %0 54 7TH23H (H)

JIE 57 = NH 4 oUT IN GROSS | HDCP NET fiwi &

1 AL | AR #ARGE 36 36 72 0.0 72.0
2 7 | IIF &R 38 35 73 0.0 73.0
3 L | EifE —BR 38 36 74 0.0 74.0
4 L | R BE 37 37 74 0.0 74.0
5 {ir |#)1] B 41 36 77 0.0 77.0
6_{r |k # ] 38 39 77 0.0 77.0
TN | EAR K 39 39 78 0.0 78.0
8 {r | JF 1 HEA 40 39 79 0.0 79.0
9 N [ex K FRFE 42 38 80 0.0 80.0
10 A7 | W B 40 40 80 0.0 80.0
11 /7 | B2 % 40 40 80 0.0 80.0
12 A7 [ IUF K— 38 42 80 0.0 80.0
13 7 | MR f#li— 37 43 80 0.0 80.0
14 A7 | FAIR F&AT 44 37 81 0.0 81.0
15 I\ | =% gz 42 39 81 0.0 81.0
16 17 | #A)R =l 41 40 81 0.0 81.0
17 for | (L3S 2RRR 40 41 81 0.0 81.0
18 I | 5l 2R 42 40 82 0.0 82.0
19 {7 | BIR 7R 42 41 83 0.0 83.0
20 N7 |fe & 41 42 83 0.0 83.0
21 A2 [IUF 8% 41 42 83 0.0 83.0
22 0 | Z80R At 43 41 84 0.0 84.0
23 AL | |A A 42 42 84 0.0 84.0
24 N7 | AKF BE— 41 43 84 0.0 84. 0
25 fr |5 E R BB 44 41 85 0.0 85. 0
26 N\ | A T 43 42 85 0.0 85.0
27 {ir | % £ 41 44 85 0.0 85.0
28 I | K% 179 39 46 85 0.0 85.0
29 A | il 1@ 46 40 86 0.0 86. 0
30 1. | @4 BN 43 43 86 0.0 86. 0
31 AL | AR R 42 44 86 0.0 86. 0
32 /7 | TP, IE& 45 42 87 0.0 87.0
33 N | Kfal 1EAs 45 42 87 0.0 87.0
34 L | ks BEK 43 44 87 0.0 87.0
35 i | P EFR 43 44 87 0.0 87.0
36 I\ | KEE {§— 47 41 88 0.0 88.0
37 N | fnfd 46 42 88 0.0 88.0
38 7 | & b A 45 43 88 0.0 88.0
39 fif | PR Fefd 44 44 88 0.0 88.0
40 o7 | [ 8 R 43 45 88 0.0 88.0
41 fr | RFf 52— 42 46 88 0.0 88.0
42 r | )15 B 46 43 89 0.0 89.0
43 {7 | f Fi& 40 49 89 0.0 89.0
44 AL | B H Kk 47 43 90 0.0 90. 0
45 {7 [/NH ¥ 44 46 90 0.0 90. 0
46 {ir |5 H 3EKER 43 47 90 0.0 90.0
47 {7 | PR B 48 43 91 0.0 91.0
48 L | BLH KJv 46 45 91 0.0 91.0
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BHHRIN T KETFE AJIA )i 2HH

BfEHA . A0 54E TH23H (H) B8 MY — BRI

Bk AT T T SN 107N (BPE - 107N = 2Pk 0N)

HDCP E R :

T—R OUT IN 2/ 3)

FNENLIRE © <= v F 27— K (F a R)E) Flkl . %0 54 7TH23H (H)

JIE 57 = NH 4 oUT IN GROSS | HDCP NET fiwi &

49 A |5 H = —HS 46 45 91 0.0 91.0
50 {2 | PRI A 45 46 91 0.0 91.0
51 {7 | A& 44 47 91 0.0 91.0
52 . | F-H #EA 51 41 92 0.0 92.0
53 L | = ¥ 47 45 92 0.0 92. 0
54 fn | H 46 46 92 0.0 92.0
55 f\L | 388 VE— 50 43 93 0.0 93.0
56 iz | Hi IR 48 45 93 0.0 93.0
57 fir | UFF FIZE 46 47 93 0.0 93.0
58 . | {i[F HiK 44 49 93 0.0 93.0
59 L |JRH FEZ 50 44 94 0.0 94. 0
60 AL | HiW 5~ 49 45 94 0.0 94. 0
61 i | 5A {EZ 52 43 95 0.0 95.0
62 {ir | )1 = Bk 51 44 95 0.0 95. 0
63 7 [ IRy SEASHS 45 50 95 0.0 95. 0
64 {ir | AK 2 45 50 95 0.0 95.0
65 {7 | bk EiR 49 47 96 0.0 96. 0
66 A7 | H b HEkE 47 49 96 0.0 96. 0
67 A7 | =R IE M 44 52 96 0.0 96. 0
68 L | KiG —B& 49 48 97 0.0 97. 0
69 iz | )11 Fith, 46 51 97 0.0 97.0
70 fif | Rk Y 53 45 98 0.0 98.0
71 7 | ] FEfE 53 45 98 0.0 98.0
72 | = A 53 45 98 0.0 98.0
73 v | BEJE EX 51 47 98 0.0 98.0
74 A7 | [FIET {5 ] 50 48 98 0.0 98.0
75 L | R R 51 48 99 0.0 99. 0
76 | THE FAT 49 50 99 0.0 99.0
77 7| P IEfE 49 50 99 0.0 99.0
78 1\ | ¥ R 51 49 100 0.0 | 100.0
79 | =R s 49 51 100 0.0 | 100.0
80 fif |SF F H— 49 51 100 0.0 | 100.0
81 i | M ‘HBL 45 55 100 0.0 | 100.0
82 N | BLK] BLEK 54 47 101 0.0 | 101.0
83 Nz | H )R EH 49 52 101 0.0 | 101.0
84 N | HiAk F5H 53 49 102 0.0 | 102.0
85 ir | #EH A& 59 44 103 0.0 | 103.0
86 N7 | Hif MK 56 47 103 0.0 | 103.0
87 N | g 7 53 50 103 0.0 | 103.0
88 N\ | = Hth 52 51 103 0.0 | 103.0
89 f\f | & H 5L3E 54 52 106 0.0 | 106.0
90 A7 | #afif] F-J\ER 51 55 106 0.0 | 106.0
91 7 | /NIE FERL 56 51 107 0.0 | 107.0
92 i | KT B 54 53 107 0.0 | 107.0
93 {ir | A E —F| 47 60 107 0.0 | 107.0
94 if |HfE K 56 53 109 0.0 | 109.0
95 {ir | EE HF#F 53 56 109 0.0 | 109.0
96 . |HFHEH B 61 49 110 0.0 | 110.0




BHHRIN T KETFE AJIA )i 2HH

BfEHA . A0 54E TH23H (H) B8 MY — BRI
Bk AT T T SN 107N (BPE - 107N = 2Pk 0N)
HDCP E R :
a— ouT IN 3/ 3)
FNENLIRE © <= v F 27— K (F a R)E) Flkl . %0 54 7TH23H (H)
[[=¥iva N 4 ouT IN GROSS | HDCP NET fifi %
97 fif [0 KIv 54 58 112 0.0 | 112.0
98 {ir | FA VE 55 61 116 0.0 | 116.0
99 {if |[A T 58 59 117 0.0 | 117.0
100 A7 | KA HEHI 60 59 119 0.0 | 119.0
101 {7 | A3 BEE 65 56 121 0.0 | 121.0
102 A7 | AT =k 61 60 121 0.0 | 121.0
103 47 | /NE M2 57 67 124 0.0 | 124.0
104 A7 | BT FEf 72 53 125 0.0 | 125.0
105 {i7 | =% Mtz 62 63 125 0.0 | 125.0
106 N7 | /MR — 8 64 62 126 0.0 | 126.0
107 {7 | 278 250 68 71 139 0.0 | 139.0




